EARAROBREBRT —5 XN—ZXBISH—F 202518138 (B) 1E94LI5H

mﬁ5%3ﬁ KBS [EE] B8 B IEEEE
[AE%) 1 & :5,600,000  ~ 23&:2,200,000 9  337%&:1,400,000 @ . 4 3&:840,000 9 5 & :560,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
=~ 4 3 | HEWLADE 2:14.6 5-7-6-6 | 36.2| 87.0 | 2 50 |/M\Bke ()
11519 | B—=VT3540Y 57.0 (-) ) | B FrOvbIr—Ai
RPN/ FAVEYR BA—IVITITION J=HUTr—L
s # 3 | T. I—AVR 2:14.6 8-7-6-6 |36.2| 87.0 | 1 46 | EREE )
2 5 ATIWVIv VR 57.0 N\F) (-4) EJ:;;%
RiDAVITSA N B RA—bIv A )| | KR4S
3 4 3 | EAARKE 2:15.0 5-5-3-3 | 36.8| 83.3 | 4 40 | LRIGHC (55H)
3 6|17 I 55.0 @12 © | ® G1L-yvor
RYPNI/TSYY BE—NJyIRFYR #B) #eI1-RL—vavEEI 7
N— Ay R 4 3 | BERE 2:15.1 9-9-11-11 | 36.3 | 82.1 | 5 M6 |EBHT GEH)
47|13 "= Ay R Y 0 W) | G1L—yvo
RiT7RIAPY—R #:7—0017I #HET7—L
o— = A= :15. -17-15- . . FEERIE—ER (3E/)
5 g EF4OF<7 B3 ryd 2(11/52)2 17-17-15-15| 35.8 | 80.8 | 11 (4+5$ Dt
RiFVVH/FEF B:9/UT70-5 #HET7—L
P 4 3 | FRER 2:15.3 3-3-3-3 [37.1)| 80.6 | 6 486 | PHEX ()
61112 J1—7 57.0 (3/4) @) | W G1L—yv7
RiWI7VRAU— #:E7/KRuoO It e
— ' it 3 | R 2:15.3 1-1-1-1 |37.4| 80.8 | 16 | 412 |fPREE EA)
718l17| ¥—3v haYF 55.0 F9%) () | FEHERT
RiLAFAO B:IFARNA b J=HUT7—L
Sis 4 3 | IENES 2:15.5  |14-15-15-17| 36.1| 78.0 | 8 | 490 |TE=iEE (=)
81816/ 727w bk 57.0 a 1/4) © |HEEE
RiY—bolbF—U7 BYYFIUFY #HET7—L4
5 TR 3 | H KAWL 2:15.7 9-9-9-8 [37.1]76.7| 3 466 | TRIEELE (S5H)
|77~ 57.0 (1 178) ) | EERHLD
RNT B:JaIRNUTFE-R /=3I r—1L
3 = S # 3 | GHER 2:15.8 13-12-13-13| 36.7 | 75.4 | 13 45 | EEEZ BH)
101714 b2¥3DI3T R 454.0 =P) o) | POYIVEE B8
RT—IVRYYF B:YPRMURDYaY NPPELL= - 5w A NP ELSL
L, H— 4t 3 | ARGt 2:16.0 11-11-9-8 |37.3| 74.0 | 12 | 454 |XHRE (8
1M11117a4x WA= 55.0 (1 1/4) 42 |WORL
R:T4I—=ILYY B:TxD—Rh—=)b it
) — 2], — f 3 | REN 2:16.0 11-12-13-14| 36.9 | 73.6 | 15 | 420 |#HACEAER (G5)
EH:S NU—=XT)L #54.0 E) (6) | AKLLBEE
R:T4I=)bYY #B:-ORU-X FEHIS
=R 3 | BRER 2:16.2  |15-16-17-15 36.6 | 71.4 | 9 | 438 |ARHESL EH)
13/ 8|15 TOXT F—lb 5.0 T 1) o | B HBL 22
RTUYIRTFYRELIIL B:HSSAF #HE77—LA
= LA :16. E3a85 . . LEVR:NEST))
FILHSZ 4 3 e 2(9‘!?:)3 3-3-3-5 [38.2| 72.2 | 14 (E?g) Ry
RiTI=ILRYY T By RYySF HO%
it 3 | GfEfE 2:16.3 2-2-2-2 | 38.3] 72.4 | 10 | 438 |HOEZ ER)
L1704 55.0 ) (1) | ) ZuyIUR—LFevTR
Rib4740 B:xvIULR FoIEFIRXT7—L
S W R 3 | AEEFN 2:16.6  |15-12-11-11| 37.8 | 69.0 | 17 | 446 |FEH=AL# ()
RUTRDwR 5.0 a1 Ca | B SLTP—L
RAN—Z—y— B:0RYUAFIIL SWT7—L
. — R. ¥V 7. -6-6- . . BAEN (FH)
FSwIEIUR i3 X 2(157)5 5-6-6-8 | 39.1| 62.8 | 7 (4_622) ebis
RFZIN—~ BN—V=FRRwT FRASY
[ BN
Eh' 49.0-36.7
NOVIA L | 12.8-11.1-12.8-12.7-12.3-12.0-11.9-12.3-12.1-12.6-12.0
@ 11— —BBIEfI
13—7— 17.4(2,7) (6,9,12)5(11,13) (1,3) 14,16(10,15) -8
20—F— (x17,4) (2,7)6,12(5,9) (11,13)1(10,3,14)-16,15,8
BEI=r= (*17,4) (2,6,7) (5,12,9) (1,11) (10,13) (3,14) (16,8) 15
43— — 17,4(2,6)7(5,9) (1,12,11) (10,13)14,3(15,8) 16
o ILRE
B B 9 3804 JA R 5-9 330M4 & 3-5 540M4 3EE 5-6-9 1,900H4
g B 9 150/ 6-9 460M 5 & 5-9 850 3EH 9-5-6 8,020
5 150M9 5-6 530 =51 9-5 1,620
6 200/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




